Chain Rule Practice Worksheet with Answers

Answers
L fl(x) =22z + 1) -2 = 4(2x4+1)
2. f/(x) =6(bx —7)°-5=30(5x — 7)°
3. f'(x) = 5e
4. fl(z) = 1627 . 2 = &
5. f'(z) = —2sin(2x)
6. f'(x) = —sin(sin(x)) - cos(x)
7. f'(z) = cos(x?) - 2
8. f(x) = - 4(4)—4sec (4x)
0. f'(@) = 51
10, f'(x) = x2
11, f'(x) = 2322 +3)72 - 62 = (3x2 +3) 2 - 3x




12. f'(z) = 3(3x% + 2x)% - (6x + 2)

13, f'(2) = L(4a® +1)72 - 8z = (4x2 +1)77 - 4x
14. f'(z) = 2" +5% . (6x2 + 5)

15. f'(x) = 16x - cos(4x? +1)? - (4x% + 1)

16. f'(z) = sec?(3x2 — 5x) - (6x — 5)

17. f'(z) = csc?(eX + x2) - (eX + 2x)

18. f/(.ZU) = — - CC_2

19. f'(2) = =12z — 5. 2= —(2x — 1)3
20. f'(w) = (5% — 1) - (5x* — 2x +4) =
21. f'(z) = cos(2x® + 4x> + 3x) - (16x” + 8x + 3)

22. f'(x) = 5%2.1n(5) - 4




